RS

V& — /oy — ==y ¥4

2017 MODEL

HA—LINAIN\—T 5%

&5 » — [o] o N N — [e) ~
Y IVIN— Tyb TS9O LR )y a TJARITS9H) LRy a
1—07v9 RAKR—Y
- . 2 A (A 4 (Bik)
INSET | T4RIEH | NS EE BOLT
X |HOLE/PCD . . . s o o e Et 4—Fvy TR
oA (mm) (mm) (mm) (mm) (ke) BUIE 34 i Y= T FYIILE YyYa | SRRTFYIULK YyYa | JO-AnIN=7'59) b m ST RE
5/100 37 39 8.29 M14x 15 R13 A1-POLO VW 1J0-601-171
16X 6.5J 37 5.4 ¢ 57.1 48 8.49 M14x 15 R13 ¥30,000 ¥31,000 ¥31,000 - A4(8E)-Passart CVVD;E;‘?_%_O‘?J;;JO A
5/112
46 37 M14x 15 R13 GOLF7 VW 5G0-601-171
AUDI 4B0-601-170 A
38% ¢ 66.6 53 9.1 M14x 1.5 R13 A4(8E)- A4(8K)- A6(4G)+ Passart - Beetle VW 3B7-601-171
17x7.0J 5/112 37 4.46 54 9.4 M14 X 1.5 R14 ¥39,000 ¥40,000 ¥40,000 - Q3(8U) AUDI 4B0-601-170 A
¢ 57.1
50 41 9.18 M14x 15 R13 GOLF7 VW 5G0-601-171
37 60 9.32 M14 X 1.5 R14 Q5(8R) AUDI 4B0-601-170 A
17x75J 5/112 38% 4.46 ¢ 66.6 59 9.39 M14x 15 R13 ¥40,000 ¥41,000 ¥41,000 - A4(8W)-TT(8J,8S) CVVD;;;B—%_()(?—11_71170 A
AUDI 4B0-601-170 A
50% 52 9.29 M14x 15 R13 A3(8V)-A3(8P)- GOLF VW 3B7-601-171
AUDI 4B0-601-170 A
32% 73 10.49 M14x 1.5 R13 A5(8T,8F) VW 3B7-601-171
39 65 10.33 M14 X 1.5 R14 Q5(8R) AUDI 4B0-601-170 A
18 % 8.0J 5/112 3.14 ¢ 66.6 ¥49,000 ¥51,000 ¥51,000 ¥53,000
40 65 10.39 M14x 15 R13 A4(8W)-AB(4G) AUDI 8WO-601-170
. AUDI 4B0-601-170 A
45% 60 10.42 M14x 15 R13 A4(8K)+S4-Scirocco VW 3B7-601-171
28 74.05 M14x 15 R14 Q7(4M) AUDI 4B0-601-170 A
19X 8.5 5/112 32 4.34 ¢ 66.6 66.05 M14x 15 R13 ¥64,000 ¥67,000 ¥67,000 ¥70,000 AT(4G)- A8(4H) CVVD;E;‘?_%B‘?OJ;;JO A
AUDI 4B0-601-170 A
43 55.05 11.47 M14x 1.5 R13 A6(4G) VW 3B7—601-171

@OHS— VIIN—T YR TS LRy 2T ART S99 LK)y 2 o0—LNAIN—=T 599
O FES: 2 —F vy T (¥3,000 Fitk). V)L T (¥1,000 Fiik)
@ HiE Xy SE R EE
@#ERILNMER

®> 7oV RIE

OBREIJO—TJ4—3IVJEL
*N\TYGE  ¢66.5-¢57.1(Fitk¥1,000)



